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(see slides for derivation of AMP , state evolution)

If we set f.G) = ④ (✗ / AX-143 = 7)
,

then E- [✗ film,✗+93D= §, / f. (mix
-10+3))

X
, }

= Etc /✗ In, ✗+ a.3)2) = d++ , 18)
Dist . recursion thus simplifies to

Men = FIFI , (1)

Note
,
Et/(✗ - Elan,Ha, })))
= E-( x) - ECECH me ✗+0+3]
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+ this is MMSE for estimating ✗ given µ+✗+a}
,

Define mmse (8) to MMSE for estimating ✗ given

✗ + }
.
Then quantity 1-14 above is

mmse ( 1¥) = mmseiai )



inset
Other party dist . recursion thus simplifies to

¥ ,
= 1- mmse( to;) G)

Can combine (1) and (2) into ID recursion

by defining K, = Tai . Then we get

80--0
, 8++,=\(1-mmseC8# (Rea)

and µ+=¥r ,
0+4

.

Can show that iterating (AEC) will converge to

fixed pt . WH solving

8%1=1,11- mnselbd.tl)


